IIpakrTuka 5.

Ypasnenus, oonycrarowue nonudsxcenue nopsaoka
2

4157. y" =Inx OtgeT: y = %{In|x|—g}+clx+cz
n Y 1,
4160. y"==—+x Otser: y = § 34 Clx +C,
X
4164. 2xyy" = (y')* +1 OtseT: y = % (Cx—1)* +C,
1
4169. y" = # OTtBeT: y = g(ﬁ — 2C1)«/\/§ +C, +C,
y
" ' n2 . X+ C2
4178. yy"—yy'Iny =(y') OTger: =C,arctg(C;Iny) (C,>0)
2
4190. xy"+x(y)? -y'=0 y(2)=2, y'(2)=1 Oteer: y=2+1In XT
4 3\, ’ \/E 2X
4195, y* —y’y'=1 y(O):\/z y(0)=7 OtBeT: y=+1+¢€
4212. xyV = y" OtBet: y =Cx° +CoXx> + Cyx? + Cyx + Cs
JIOY
4252, y" -9y =0 Otser: y=Ce¥ +Ce*
4
4255, 3y" —2y'~8y =0 Otser: y=Ce®* +Che 3
4260. 4? - 20% 25x =0 Orser: X = (C, +C,t)e*™
4263. y"+4y' +29y =0 y(0)=0, y'(0)=15 OtBer: Yy =3e2*sin5x
4303. y"V =8y"-16y Otser: y = (C, +C,x)e?* + (C; + C,x)e ¥

0)=0, y'(0)=1, y"(0)=0,
4313. yV =y’ y,(”) y(|v) y'(0) Ortser: Yy =€" +COSX—2
y"(0)=1 y" (0)=2

JlonoJTHUTEIBLHO:
4213 ym — (y//)3
4214. y'y"" =3(y")

Homa: bepman I'.H. COopHUK 3a7a4 MO KypCy MaTeMaTHYECKOT0 aHaIN3a
4162, 4163, 4177, 4195, 4253, 4254, 4256, 4259, 4312



